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Question 1  (Hibbeler, R.C, 2010, Engineering Mechanics: Dynamics 12! Ed. Pearson)

The position of a particle is given by s = £ — 32 m, where t is in seconds. Calculate the
time(s) when (a) the velocity of the particle is zero, (b) the acceleration is zero, and (c)
calculate the total distance travelled by the particle after 3 seconds.
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Question 2 (Hibbeler, R.C, 2010, Engineering Mechanics: Dynamics 12! Ed. Pearson)

A particle is moving along a straight line such that its acceleration is given by
a=(-2vyym/s’. If v=20m/swhen s=0 and t=0, calculate (a) the particle’s velocity (b)
the particle’s position and (c) the particle’s acceleration when t = 2 seconds.

Worked Solution 2
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